3.5K (4 Bolt) 10"x 2-1/4"

2.5K 7" x 1.25" (4 Bolt)

BRAKES ELECTRIC

3.5K 10" x 2.25"
(4 Bolt) Self Adj.

7K (5 Bolt) 8K (4 Bolt) Self Adj.

12-1/4"x 3-3/8"

10K
12-1/4" X 3-3/8"
(7 Bolt) Self Adj.)

7K 12"x 2" (5 Bolt) Self Adj.

Ref. # BRAKES ELECTRIC weight Axle
EB-2.5KL-7.00x1.25 Brake Electric 2.5K cap. Pair 7"x1.25" LH (4 Bolt) 4.0 2.5K
EB-2.5KR-7.00x1.25 Brake Electric 2.5K Cap. Pair 7"x1.25" RH (4 Bolt) 4.0 2.5K
EB-3.5KL-10.00x2.25 Brake Electric 3.5K Cap. Pair 10"x2.25" LH (4 Bolt) 11.0 3.5K
EB-3.5KR-10.00x2.25 Brake Electric 3.5K Cap. Pair 10"x2.25" RH (4 Bolt) 11.0 3.5K
EB-7KL-12.00x2.00 Brake Electric 7K Cap. Pair 12"x2" LH (5 Bolt) 15.0 7K
EB-7KR-12.00x2.00 Brake Electric 7K Cap. Pair 12"x2" RH (5 Bolt) 15.0 7K
EBA-3.5KL-10.00x2.25 | Brake Electric Self Adj. 3.5K Cap. Pair 10"x2.25" LH (4 Bolt) 12.0 3.5K
EBA-3.5KR-10.00x2.25 | Brake Electric Self Adj. 3.5K Cap. Pair 10"x2.25" RH (4 Bolt) 12.0 3.5K
EBA-7KL-12.00x2.00 Brake Electric Self Adj. 7K Cap. Pair 12"x2" LH (5 Bolt) 16.0 7K
EBA-7KR-12.00x2.00 Brake Electric Self Adj. 7K Cap. Pair 12"x2" RH (5 Bolt) 16.0 7K
EBA-8KL-12.25x3.38 Brake Electric Self Adj. 8K Cap. Pair 12.25"x3.38" LH (4 Bolt) 20.0 8K
EBA-8KR-12.25x3.38 Brake Electric Self Adj. 8K Cap. Pair 12.25"x3.38" RH (4 Bolt) 20.0 8K
EBA-10KL-12.25x3.38 | Brake Electric Self Adj. 10K Cap. Pair 12.25"x3.38" LH (7 Bolt) 22.0 10K
EBA-10KR-12.25x3.38 | Brake Electric Self Adj. 10K Cap. Pair 12.25"x3.38" RH (7 Bolt) | 22.0 10K
EBA-12KL-12.25x5.00 | Brake Electric Self Adj. 12K Cap. Pair 12.25"x5.00" LH (7 Bolt) 22.0 12K
EBA-12KR-12.25x5.00 | Brake Electric Self Adj. 12K Cap. Pair 12.25"x5.00" RH (7 Bolt) | 22.0 12K

Ref # BRAKE MOUNTING BOLTS-NUTS Bl:aeI:e Axle Size

7-041 Stud, Press In 7/16-20 x .89 Black Oxide 4 2.5K &
6-170 Nut, Flanged Locking 7/16”-20 4 3.5K
7-112 Stud, Press In 3/8-24 x .88 Grade 5 5 5 27K
6-193 Nut, Keeper 3/8”-24 5

7-097 Bolt, Hex Head 1/2”-20 x 1.25” Grade 5 4 8K
6-046 Nut, Flanged Locking %”-20 4

7-116 Bolt, Hex Head 7/16”-20 x 1.75” Grade 5 7 10K-12K
6-017 Nut, Flanged Locking 7/16”-20 7

©Steelfab Mfg LLC Rev 1-2018

Sales @ 1-800-670-7281 Press 1

www.Bulldogaxles.com




